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QUESTION 1

You are changing the default vCPU allocation on a vSRX. How are the additional vCPUs allocated in this scenario? 

A. The vCPU are allocated equally across the Junos control plane and packet forwarding engine. 

B. One dedicated vCPU is allocated for the Junos control plane and the remaining vCPUs for the packet forwarding
engine. 

C. One dedicated vCPU is allocated for the packet forwarding engine, one for the Junos control plane, and the
remaining vCPUs are equally balanced. 

D. One dedicated vCPU is allocated for the packet forwarding engine and the remaining vCPUs for the Junos plane. 

Correct Answer: B 

 

QUESTION 2

Which statement is true about high availability (HA) chassis clusters for the SRX Series device? 

A. Cluster nodes require an upgrade to HA compliant Routing Engines. 

B. Cluster nodes must be connected through a Layer 2 switch. 

C. There can be active/passive or active/active clusters. 

D. HA clusters must use NAT to prevent overlapping subnets between the nodes. 

Correct Answer: C 

 

QUESTION 3

You have configured source NAT with port address translation. You also need to guarantee that the same IP address is
assigned from the source NAT pool to a specific host for multiple concurrent sessions. 

Which NAT parameter would meet this requirement? 

A. port block-allocation 

B. port range twin-port 

C. address-persistent 

D. address-pooling paired 

Correct Answer: D 

 

QUESTION 4
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What are two fields that an SRX Series device examines to determine if a packet is associated with an existing flow?
(Choose two.) 

A. protocol 

B. source IP address 

C. source MAC address 

D. type of service 

Correct Answer: AB 

 

QUESTION 5

Which type of VPN provides a secure method of transporting encrypted IP traffic? 

A. IPsec 

B. Layer 3 VPN 

C. VPLS 

D. Layer 2 VPN 

Correct Answer: A 

 

QUESTION 6

Which feature is used when you want to permit traffic on an SRX Series device only at specific times? 

A. scheduler 

B. pass-through authentication 

C. ALGs 

D. counters 

Correct Answer: A 

 

QUESTION 7

Click the Exhibit button. 
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You notice that your SRX Series device is not blocking HTTP traffic as expected. Referring to the exhibit, what should
you do to solve the problem? 

A. Commit the configuration. 

B. Reboot the SRX Series device. 

C. Configure the SRX Series device to operate in packet-based mode. 

D. Move the deny-http policy to the bottom of the policy list. 

Correct Answer: B 
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QUESTION 8

You recently configured an IPsec VPN between two SRX Series devices. You notice that the Phase1 negotiation
succeeds and the Phase 2 negotiation fails. 

Which two configuration parameters should you verify are correct? (Choose two.) 

A. Verify that the IKE gateway proposals on the initiator and responder are the same. 

B. Verify that the VPN tunnel configuration references the correct IKE gateway. 

C. Verify that the IKE initiator is configured for main mode. 

D. Verify that the IPsec policy references the correct IKE proposals. 

Correct Answer: AB 

 

QUESTION 9

What are three defined zone types on an SRX Series device? 

A. dynamic 

B. junos-host 

C. null 

D. functional 

E. routing 

Correct Answer: BCD 

 

QUESTION 10

Which statement describes the function of screen options? 

A. Screen options encrypt transit traffic in a tunnel. 

B. Screen options protect against various attacks on traffic entering a security device. 

C. Screen options translate a private address to a public address. 

D. Screen options restrict or permit users individually or in a group. 

Correct Answer: B 

 

QUESTION 11

What are the maximum number of supported interfaces on a vSRX hosted in a VMware environment? 
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A. 12 

B. 3 

C. 10 

D. 4 

Correct Answer: A 

 

QUESTION 12

What are two supported hypervisors for hosting a vSRX? (Choose two.) 

A. VMware ESXi 

B. Solaris Zones 

C. KVM 

D. Docker 

Correct Answer: AC 

 

QUESTION 13

Which interface is used exclusively to forward Ethernet-switching traffic between two chassis cluster nodes? 

A. swfab0 

B. fxp0 

C. fab0 

D. me0 

Correct Answer: A 

 

QUESTION 14

Click the Exhibit button. 

You are configuring an OSPF session between two SRX Series devices. The session will not come up. 

Referring to the exhibit, which configuration change will solve this problem? 
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A. Configure a loopback interface and add it to the trust zone. 

B. Configure the host-inbound-traffic protocols ospf parameter in the trust security zone. 

C. Configure the application junos-ospf parameter in the allow-trusted-traffic security policy. 

D. Configure the host-inbound-traffic system-services any-service parameter in the trust security zone. 

Correct Answer: A 

 

QUESTION 15
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You want to ensure that any certificates used in your IPsec implementation do not expire while in use by your SRX
Series devices. 

In this scenario, what must be enabled on your devices? 

A. RSA 

B. TLS 

C. SCEP 

D. CRL 

Correct Answer: C 
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